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QUESTION 1

How are ACLs stored in HP Network Automation?
A. They are not stored.

B. They are stored as vlan data.

C. They are stored as controls for user access.

D. They are stored as independent data.

Correct Answer: D

QUESTION 2

What does SNMP use to detect network devices?
A. CLI

B. TCP

C. RMI

D. UDP

Correct Answer: D

QUESTION 3

What do you use to view the software version and compliance rating currently assigned to each device?
A. Software Images page

B. Software Levels report

C. Device Software report

D. Device Levels page

Correct Answer: C

QUESTION 4
What uses up the majority of the disk capacity by HP Network Automation?
A. device configuration logs

B. configuration data in the database
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C. network device traffic logs
D. NA drivers

Correct Answer: B

QUESTION 5

What is the best practice for the syslog configuration and the reason for this configuration?
A. turned off during initial deployment to prevent mass change to the production environment
B. turned off at all times for security purposes

C. turned on during initial deployment to discover all devices in the production environment
D. turned on at all times to receive device events

Correct Answer: A
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